
16x16 X-Factor Sudoku
Use logic to fill in the puzzle so that each row, column and 4x4 block contains

the ’numbers’ 1-9 and A-G. Also, both diagonals contain the ’numbers’ 1-9 and A-G.
There is only one solution for this synchronized puzzle.
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16x16 X-Factor Sudoku  Puzzle #9254
Difficulty Level:  Fiendish

Publication Date:  September 13, 2013

 9 6 8 E      2  G 5 3  

A   D     5   E    9

   2 5  B  9 1 7     E

4     F 8 D   3   1  2

   F  4  C A 3 5     G

 A  3 7  F E     5  B  

 4      8 D  B 9  2 C 3

 7 G  2       6    4

6    C       1  E A  

F C D  8 B  7 G      4  

 E  A     B 6  C 3  G  

2     6 1 A 4  E  B    

9  C   7   E G 1     5

G     2 A 5  D  B 9    

5    4   G     1   8

 2 E 1  8      5 7 G F  


